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) Determine the phasor representation for the following:

acos(of) + bsin (wf) = a —jb

Phasor Representation of....
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2) The gain of an inverting amplifier is

Determine the phasor representation of...

Phasor Representation of....
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3) Write the voltage node equations for the following circuit using phasor notation (the phasor
representation of V & RLC already given)
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4) Push-Pull Amplifier (Voltage Output): Determine the voltages and currents for the following circuit
when Vin =2V DC.
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5) Push-Pull Amplifier (Current Output): Determine the voltages and currents for the following circuit
when Vin =2V DC.
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Bonus: Assuming nothing changes with our energy usage, how much will the Earth warm by the year
2100 as projected by the National Oceanic and Atmospheric Administration of the U.S. Government?
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